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7 100kN/ Mm% Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % — — — —
ZFhst 1.00 000 ~ 472 5889 | #=nst 000 ~ 472 1.80 9.66 Fhst 1.00| 500 ~ 5.00 58.89 | Eh LS | 5.00 5.00 | 1.80 9.66
2 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % — — — —
zhLst 1.00 | 000 ~ 588 73.62 | #nst | 000 ~ 0.00| 1.63 872 zhLst 1.00 | .00 ~ 6.87 73.62 | #nLst | 6.00 6.87 | 1.63 872
3 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % — — — —
ZFhst 1.00 | 000 ~ 607 76.10 | FnLS | 0.00 ~ 0.00| 1.70 9.10 Fhst 100|500 ~ 698 76.10 | =nLst | 6.00 6.95| 1.70 9.10
p 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % — — — —
zhLst 1.00 | 000 ~ 622 7812 | #=nst | 000 ~ 622 1.79 9.57 zhLst 1.00 | 6.00 ~ 7.24 78.12 | #nLst | 6.00 724 | 1.79 9.57
5 100kN/mM#E#BZ5 | 1.00 | 000 ~ 234 136.58 |3mZE#BAB| — ~ — — — | 100kN/mM%#82% | 1.00 | 1098 ~ 2420 136.58 |3m%E#BZ% — — — —
Fhst 100|234 ~ 1013 100.00| FThLs | 000 ~ 1013] 2.54 13.60 zhLst 1.00 | 500 ~ 1098 100.00 | Fnst | 5.00 2420 | 2.54 15.60
P 100kN/m##8x5 | 1.00 | 000 ~ 221 134.31 |3mZ#BAB| — ~ — — — | 100kN/mM%#82% | 1.00 | 11.24 ~ 2459 134.831 |3m%E#BZ% — — — —
zhLst 100|221 ~ 999\ 100.00| Fhis | 000 ~ 999 2.50 13.40 zhLst 1.00 | 600 ~ 1124 100.00 | Fhst | 6.00 2459 | 2.60 13.40
- 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % — — — —
Tt 1.00 | 0.00 ~ 5.96 74.63 | Ths | 0oo ~ 596 | 1.87 10.00 FhLst 1.00 | 6.00 ~ 7.00 74.63 | TnS | 5.00 7.00 | 1.87 10.00
3 100kN/mMZ#2Z % — - ~ — —|3mEEZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3mE{BZ B — — — —
FhLst 1.00 | 0.00 ~ 4.52 56.35 | ThS | 0o0 ~ 452 1.91 10.23 st 1.00 | 6.00 ~ 56.00 56.35 | =nLs | 5.00 5.00 | 1.91 10.23
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ MZ#BZ % ~ ImEBZD
Ths ~ Ths ~ Ths ~ Zh s
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD
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100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD
Ths ~ Ths ~ Ths ~ Zhusn
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD
Ths ~ Ths ~ Ths ~ Zhusn
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD
Ths ~ Ths ~ Ths ~ Zh s
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